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Angiosperm Phylogeny Group developed APG classificationin ......
1) 1996 2) 1997 3) 1993 4) 1998
ebrdt Sirel e,
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Find the wrong pair.
1) Labiatae - Lamiaceae 2) Palmae - Arecaceae
3) Compositae - Clusiaceae 4) Umbelliferae — Apiaceae
foret a1 pesntier amg
q) HRR ?) smiforedt 3) wftisds g) ARICH!
Litchi belongs to the family
1) Moraceae 2) Bromeliaceae 3) Sapindaceae 4) Myrtaceae
R monoecious FEUTEN Teal

9) TR g A1 Pet NI TR AT Q) UoTE PRl TR g HIG T
3) TR g A Gol Thrd STSIER SiHTefl A ) wefire

The plant is called monoecious when

1) Male and female flowers on different plants

2) Male and female parts in the same flower

3) Male and female flowers are born on same plant
4) Staminate

TS FNARUMAEY ‘fhehR’ 8T e Wieiielden! HIuredT Jiged Adr ?

9) FARIHTCT R) PRI 3) Rersrer 8) RISIBRICT
'Chaetophorales' group belong to which of the algal class ?
1) Chlorophyta 2) Charophyta 3) Cyanophyta 4) Rhodophyta
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Match the algae group and their pigments.

Algae group Pigments
a) Chlorophyceae 1) Chlorophyll aand b
b) Phaeophyceae i1) Phycoerythrin
c¢) Rhodophyceae 111) Fucoxanthin
d) Crysophyceae 1v) Phycocrysin

Answer options :
a b ¢ d

) 1 1 vl
2) 1 m 1w
3) i v i 11

4) v o1 i

TRfga e fafre srftrararaRia Faffea 3reiean 3foT <1 ST SR DIde! 7 JMSBUI=AT TSTTc =T

TSTICT RO 3fesdel S,

9) T Q) HRITE 3) fagaft ) femeR

Species that are confined to a particular habitat in a protected area and not found anywhere else
except that area are known as species.

1) endemic 2) elusive 3) exotic 4) nocturnal
EEReRIEINCEINC|

37) AR TRelel  §) SNERT WRERT &) Sesbaniarostrata ) GRTIERIT TetsT
RIeTeh! PIoTCHt IFTRITh IRt 3Ted ?

9) Wk 3 ) 9 Wh 3) 3, §AMT & Heh  8) 3, d, B AT S
Consider the plants

a) Sesbaniaaculeata  b) Sesbania speciosa c¢) Sesbaniarostrata  d) Pongamia glabra
Which of the above are leguminous plants ?
1) aonly 2) bonly 3)a,band conly 4)a,b,candd
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Among the following, which crops is/are C4, plants ?

1) Sugarcane 2) Sorghum 3) Maize 4) All of the above

C, TTeuHEd, BIPIHITUoided RIS DEifdecisied B SHAAES A0 S JH1

foRaTERaTaATST WU SR ST 3Tg. e —

a) C, TTROAAE C, IO ST TebIeRILeul SR SRl

b) C, SITS gbTes HCRIERD 3fiec 3R Fget STl bRl  ATATeITeT JUaRETetl Gaiel TTel aTQuar
[A&H AT

¢) C, gl Sferep ST SepTerA=Ies 0T ehrefTel

d) Prél C, T BT ST fANTgSd FHIUT 900 UIdITH SRATHTE! FehIIRIZATUT b 2Tehel.

TRICTHRT DIV 8T sRISR 3MTe / 37Ted ?

9) b a Q) a 37T b wh 3)a,bamrc®h  8)Fda,b,camrd

In C, plants, phosphoenolpyruvic acid carboxylase has very high affinity for carbon dioxide and

high potential activity. Therefore

a) C, plants have higher photosynthetic rate than C4 plants

b) C, plants are said to be drought resistant as they are able to grow better even under moisture
stress

¢) C plants translocate photosynthates more rapidly

d) Some C, plants can photosynthesize even when carbon dioxide concentration is 100 ppm

Which of the above statement/s is/are correct ?
1) a only 2)aand b only 3)a,band conly 4)Alla,b,candd

GrefleTidht Pivr e /fagm s_IeR 31/ 3med 2

31) AT — 3R ARDse™, He 3R, §) U — 3SR DIfThie] HEY TR,
@) CaN — 3SR e 7 3Tk, ) YT — 3iiex CREvIwHeY 78 3T,
gff S

9) g § SRR 3R R) faemm a1 31l & sRIER 3T

3) fem o1 a7for 9 SRR 3mRd g) faam & anfir € SRR 37ed
Which of the following statement (s) is/are true ?

a) Zamia belongs to order Cycadales. b) Pinus belongs to order Coniferales.
c¢) Taxus belongs to order Gnetales. d) Thuja belongs to order Pteridospermales.
Answer options :

1) Statement d is correct 2) Statements a and c are correct

3) Statements a and b are correct 4) Statements ¢ and d are correct

R) aeuciie SRS STfor I
AR fARUNTT ....... THTT, Frored] GO TehTeRIeTSUITd aTaRel ST,

9) W% Q) A% 3) 3% 8) 36%
A portion of solar radiation, up to ......... in terms of energy is used in photosynthesis.
1) 24% 2) 28% 3) 32% 4) 36%
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What is the principal function of the light-dependent reactions of photosynthesis ?
1) To transfer the NADH and ATP 2) To utilize the NADPH and ATP
3) To generate the NADPH and ATP 4) All of the above

TTRUTIGR TRIAHALIUNGR Ao BIeTHE 37pra s CO < HUTR HRugTe ST ATchial Jevar! ufshan
3R,

9) P e Q) TBIIHIATT 3) 9aa %) e STH ROT

1s the process of transformation of inorganic CO, through photosynthesis by plants into organic
carbon and sink in soils.

1) Carbon credit 2) Photosynthesis

3) Respiration 4) Carbon sequestration

R A @l ... T JURRIT 3R,

9) iR R) P 3) fegm 8) SR
Gelatinous Seed Coatis presentin ................

1) Loranthus 2) Cuscuta 3) Striga 4) Orobanche

GTefieTidh! PIvrT ale R 3iffaa fehamraraieft Tt @xar amfr exasiy oxal ?

9) TIBA ) 2.,4-D 3) Tryptophan g) IPA
Which one of the following growth regulator compete and interfere with auxin activity ?
1) TIBA 2)2,4-D 3) Tryptophan (4) IPA

YPIAAISYUN It fafeer ARIfidht o ArTY qroft aroR prRiemer HHT 3 ?

q) C, Feudl R) C, aeeudl 3) CAM =it 8) Il
Which of the different pathway of photosynthesis plants have lower water use efficiency ?
1) C,plants 2) C,, plants 3) CAM plants 4) All of the above

Jqd g Ueffaed Wrefleidl HIva 3fesd el ?

9) P At Q) T R 3) wenReesd Q) ey
Which of the following is not found in cells of all plants ?

) Rigid cell wall 2) Central vacuole 3) Plastids 4) Centrosomes
TRIRTE 3Tcifier Ugd Imed fIqTTelt oTg

a) TCH HicT b) Sofeiedn oo c) &= d) Rhizomes
ggift S

9) %k a ?) a, b a7 ¢ 3)a,b,camrd ) a, b 37T d
The asexual method of propagation is divided into :

a) Stem cutting b) Rooted slips ¢) Seeds d) Rhizomes
Answer options :

1) aonly 2)a,bandc 3)a,b,candd 4)a,bandd
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......... Terdiel eI THICHISS FgUd B HRAT,

9) PrEfHT ) ITAIRRINRFE  3) NIRRT ) el Td
Pesticides of ................ group act as nematicides.
1) Carbamate 2) Isothiocyanate 3) Organophosphate  4) All of the above

ARGET CO 3icFId Hichra digeiel JHAM, Foa gHd ARETe I el 31g, &
UMHE aTeeied] BRI ..........

9) UPIIIIATOT Q) FARIftheT 3) N 8) CRIfeRIRTSS
Increased insect damage under elevated CO, has been observed in early season Soyabean, possibly
due to increased concentrations of in the leaves.

1) photosynthates 2) chlorophyll 3) sugars 4) triglycerides

q) TR ?) We =gt | 3) RN ghI  8) goliss gl

Chlamydospores are formed from cells of ..........
1) Sporangia 2) Parent nuclei 3) Vegetative hypha  4) Haploid nuclei

TRIGIHRT gR dToRel SR 3fifdd ST |l

q) STcplgrel Q) FRiFe 3) IR 8) RIINC
The inorganic energy source used by Nitrosomonas :
1) Alcohol 2) Succinate 3) Annonia 4) Fumarate

ST Tehied] URIGId STSMed JuiidR, Gol, THheseRuT TG fIehRaTciiel g Sqerret

q) STt R) wArErSIl 3) SISt 8) BT

The term used to refer to the seasonal changes in the development of foliage, flowering, fruiting,
etc. in trees in response to climatic factors is ................

1) Genology 2) Phenology 3) Ecology 4) Forestry

9R€R WEJ UfgeT WU RIGele WA DIV SRl I HEFRIGR TR 0T 37Tl ?

q) AT UHTER SRRT J0MRY ST Q) THCH T FeTce TR AVRT I

3) THCl 3T Screarar IRRT BIURT g 8) I RS Tt

On which plant disease epidemics the first computer simulation programme was prepared in
1969 ?

1) Late leaf spot of groundnut 2) Early blight of tomato and potato

3) Late blight of tomato and potato 4) Early ieaf spot of groundnut
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